AEIAINTINANENS

RN PRAIVANBATUNS

NIFEUNAWNAIANITAENEN 2 Hn1s@nu 2553
Twdundi 27 Swanaw 2553 1787 : 09.00-12.00 W.
3911 : 235-302 : MICROCOMPUTER APPLICATIONS #24: COM.4

IN MINING

o)

1N

.

1. Tdeoulunszaudinn
2. aufgmiﬁmmnmmnﬂﬁ@u‘ﬁ”uﬁaqaaﬂﬁ
3. Wsudauas IR UUNSZTA A INDUNNLLNL

RIWA 2138NA

9/ ] [
nasalumazeulnsaue fa Usuanluwseizineie uazWnnsiZuw 1 mamsdne




=Rh-

@
wh
=
o

1.  IAIUIUNT average grade YOAHAINDIAILIT Triangular grouping method ( 15

ATUUU)
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A, B, C, D, E, F = Name of triangle
Sample No. Easting(m) Northing(m) Gold(g/t) Thickness m.
1 600 800 7.3 9.3
2 500 600 10.3 6.2
3 700 600 18.5 57
4 400 700 20.3 3.4
5 500 700 14.7 4.9
6 600 500 10.4 7.1
7 700 800 24 1 2.7
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Feed) (Ton/day)

A 20 25 T3ifins 600

A 30 35 Taisin 1500

38’ 30 40 Tsidn31 1000
Auru 15 5 Taitfiu 600
Aungn 5 5 Taitfiu 200

4 v a toA rooA a &
FIAUNUMINANYD3 15913 A fiD 60 Bath/tons 1az 15913 B Ain 70 Bath/tons IFIns AUl
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Constraints =
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(m/man/shift) lddoyadsil

V - Drilling velocity( centimeters per S - Distance in meters drilled per man per shift
minutes)

25 5.0

5.0 11.5

10.0 17.5

15.0 220

20.0 25.5

25.5 28.0

30.0 30.5
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3.1 wmaumsheFuiennuduRussenIdnls o 18aNga( linear relationship)
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3.2 91naumsAld a1 s 1 V=18 cm/min
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